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KANGAROO 2021 N

Time allowed: 50 minutes
Calculators are not permitted NIPPER E | \‘

The participants solve problems independently 1-2 GRADES

QUESTIONS FOR 3 POINTS

1. A KANGAROO LAID OUT 3 STICKS LIKE THIS TO MAKE A SHAPE. IT IS
NOT ALLOWED TO BREAK OR TO BEND THE STICKS. WHICH SHAPE COULD THE
KANGAROO MAKE?
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2. THE PICTURE SHOWS 2 MUSHROOMS. WHAT IS THE —ﬁ
DIFFERENCE OF THEIR HEIGHTS? 10
A)4 B)5 C)6 D)1l E)17 — 3

3. WHICH OF THE PATHS SHOWN IN THE PICTURES IS THE LONGEST?

A) B) C) D) E)

4. FOUR IDENTICAL PIECES OF PAPER ARE PLACED AS SHOWN. |

1
MICHAEL WANTS TO PUNCH A HOLE THAT GOES THROUGH Ae De
ALL FOUR PIECES. AT WHICH POINT SHOULD MICHAEL PUNCH
THE HOLE? ¢ o o
C D FE
A)A B)B C)C D)D E)FE




5. ELLA PUTS ON THIS T-SHIRT AND STANDS IN FRONT OF A
MIRROR. WHICH OF THESE IMAGES DOES SHE SEE IN THE
MIRROR?

A) 1S0E€ B) £OST ) OSIS by 1208 gy IS0

6. BANANAS ARE MORE EXPENSIVE THAN APPLES BUT CHEAPER THAN
STRAWBERRIES. STRAWBERRIES ARE MORE EXPENSIVE THAN RASPBERRIES BUT
CHEAPER THAN GRAPES. WHICH FRUITS ARE THE MOST EXPENSIVE?

A) BANANAS B) APPLES C) STRAWBERRIES D) GRAPES E) RASPBERRIES

QUESTIONS FOR 4 POINTS

7. SEVEN CHILDREN ARE STANDING IN A LINE. SOME ARE FACING FORWARDS AND
OTHERS ARE FACING BACKWARDS. HOW MANY CHILDREN ARE HOLDING ANOTHER
CHILD’S HAND WITH THEIR RIGHT HAND?

A)2 B)3 C)4 D)5 E)6

8. IN THE KANGAROO CONSTELLATION, ALL STARS HAVE A NUMBER GREATER THAN
3 AND THEIR SUM IS 20. WHICH IS THE KANGAROO CONSTELLATION?
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9. EDMUND CUT A RIBBON AS SHOWN IN THE PICTURE. HOwW
MANY PIECES OF THE RIBBON DID HE FINISH WITH?
A)9 B)10 C)11 D)12 E)13
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10. ROSE THE CAT WALKS ALONG THE WALL. SHE
STARTS AT POINT B AND FOLLOWS THE DIRECTION
OF THE ARROWS SHOWN IN THE PICTURE. THE CAT
WALKS A TOTAL OF 20 METRES. WHERE DOES SHE
END UP?
A)A B)B C)C D)D E)FE

11. JULIA HAS TWO GLASS BOXES WITH FIGURES, AS SHOWN. WHAT IS THE SMALLEST
TOTAL NUMBER OF FIGURES JULIA HAS TO ADD TO THE BOXES SO THAT EACH
BOX HAS THE SAME NUMBER OF EACH TYPE OF FIGURES?
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A)2 B)4 C)6 D)8 E)I10

12. TOM ENCODES WORDS USING THE BOARD SHOWN. FOR EXAMPLE,

THE LETTER R HAS THE CODE ('3, AND THE WORD PIZZA HAS
THE CODE A2 A4C'1C1 B2. WHAT WORD DID TOM ENCODE AS

B3 B2C4 D2? 2
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A) MAZE B) MASK C)MILK D) MATE E)MATH 3
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QUESTIONS FOR 5 POINTS ©)
13. WHICH FIGURE CAN BE MADE FROM THESE TWO PIECES? r é 7S
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14. THE PICTURE SHOWS THE FIVE HOUSES OF FIVE FRIENDS AND THEIR SCHOOL.

15.

16.

17.

TO GO TO SCHOOL, DORIS AND ALI WALK PAST LEO’S HOUSE. EVA WALKS PAST
CHOLE’S HOUSE. WHICH IS EVA’S HOUSE?
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A)m B)ﬁ C)ﬂ D)ﬁ E)m

MARA BUILT THE SQUARE BY USING FOUR OF THE FOLLOWING
FIVE SHAPES. WHICH SHAPE WAS NOT USED?
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3 APPLE CARDS HE SWAPS TO 1 BANANA CARD.

3 BANANA CARDS HE SWAPS TO 1 APPLE CARD.
WHAT WILL HE FINISH WITH AFTER ALL POSSIBLES
EXCHANGES IF HE STARTS WITH 4 APPLE CARDS AND
5 BANANA CARDS?
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AINIS HAS CARDS WITH APPLES AND BANANAS. HE
CAN EXCHANGE THEM ONLY IN TWO FOLLOWING

THE CARDS [2][3](4]/5][6] ARE PLACED INTO TWO BOXES. THE SUMS OF THE
NUMBERS IN EACH BOX ARE THE SAME. WHICH NUMBER MUST BE IN THE BOX
WITH THE NUMBER 47

A)ONLY3 B)ONLYS5 C)ONLY6 D)50R6 E)20R3



18. EACH PARTICIPANT IN A COOKING CONTEST BAKED ONE TRAY OF COOKIES LIKE
THE ONE SHOWN. WHAT IS THE SMALLEST NUMBER OF TRAYS OF COOKIES
NEEDED TO MAKE THE PLATE SHOWN?
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